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2.	
ܷ୫ୟ୶ ൌ 400	V	
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3.	
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4.	
ଵܰ ൌ 1600	
ଶܰ ൌ 800	
ଵܷ ൌ 220	V	
ଵܫ ൌ 0,025	A	
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5.	
݈ ൌ 0,5	m	
ܴ ൌ 0,015	m	
ܤ ൌ 0,08	T	
ܫ ൌ 5	A	
ܰ ൌ 50	
ݎ ൌ 0,005	m	
ߙ ൌ 30°	
ݐ߂ ൌ 0,005	s	
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6.	
ܷ ൌ 12	V	
ܤ ൌ 0,65	T	
݉ ൌ 0,05	kg	
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7.	
ܲ ൌ 0,025	W	
ݎ ൌ 7,5 ∙ 10ିସ	m	
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8.	
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9.	
୫ܧ ൌ 3,2 ∙ 10ିଵ଺	J	
ܤ ൌ 5 ∙ 10ିହ	T	
݁ ൌ 1,6 ∙ 10ିଵଽ	C	
݉ ൌ 9,1 ∙ 10ିଷଵ	kg	
ܶ ൌ?	

ܤݒ݁ ൌ ݉
ଶݒ

ݎ
	

ݎ ൌ
ݒ݉
ܤ݁

	

ݒ ൌ
ߨݎ2
ܶ

⇒ ܶ ൌ
ߨݎ2
ݒ

ൌ
ߨ2݉
ܤ݁

ൌ
2 ∙ 9,1 ∙ 10ିଷଵ	kg ∙ ߨ

1,6 ∙ 10ିଵଽ C ∙ 5 ∙ 10ିହ	T
ൌ	

ൌ
ߨ91
40

∙ 10ି଻ s ൎ 7,1 ∙ 10ି଻ s	

	 	
	 	
10.	
ݎ ൌ 0,1	m	
ܰ ൌ 1500	
ܫ ൌ 1,5	A	
ܣ ൌ 4 ∙ 10ିସ	mଶ	
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